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3HQHOLWLDQ� LQL�GLODNXNDQ�GL�%DGDQ�3HQGDSDWDQ�'DHUDK� �%$3(1'$��.RWD�
3DGDQJ� \DQJ� EHUDODPDW� GL� -O�0RK�<DPLQ�1R�� ����.S�� -DR�� 3DGDQJ� %DUDW�� .RWD�
3DGDQJ�� $GDSXQ� WXMXDQ� GDUL� SHQHOLWLDQ� LQL� DGDODK� XQWXN� PHQJHWDKXL� HIHNWLYLWDV�
SHQHULPDDQ�SDMDN�UHVWRUDQ�GL�%DGDQ�3HQGDSDWDQ�'DHUDK�.RWD�SDGDQJ

%HQWXN� SHQHOLWLDQ� \DQJ� GLJXQDNDQ� DGDODK� SHQHOLWLDQ� GHVNULSWLI�� GLPDQD�
SDGD� SHQHOLWLDQ� LQL� SHQXOLV� PHQGHVNULSVLNDQ� DWDX� PHQFHULWDNDQ� VXDWX� IDNWD�
IHQRPHQD�IHQRPHQD��JHMDOD��SHULVWLZD�\DQJ�GLGDSDW�GLODSDQJDQ�\DQJ�WHUMDGL�SDGD�
VDDW�VHNDUDQJ��7HNQLN�SHQJXPSXODQ�GDWD�\DQJ�GLJXQDNDQ�\DLWX�GRNXPHQWDVL�GDQ�
VWXGL�NHSXVWDNDDQ�GDQ�WHNQLN�DQDOLVLV�GDWD�\DQJ�GLJXQDNDQ�DGDODK�WHNQLN�DQDOLVLV�
GHVNULSWLI� NXDQWLWDWLI�� 'DWD� \DQJ� GLWHOLWL� \DLWX� GDWD� WDUJHW� GDQ� UHDOLVDVL� SDMDN�
UHVWRUDQ� GDUL� WDKXQ� ���������� GL� %DGDQ� 3HQGDSDWDQ� 'DHUDK� .RWD� 3DGDQJ� GDUL�
WDKXQ����������

'DUL� KDVLO� SHQHOLWLDQ� \DQJ� GLODNXNDQ� PHQXQMXNNDQ� EDKZD� WLQJNDW�
HIHNWLYLWDV�SHQHULPDDQ�SDMDN�UHVWRUDQ�GL�.RWD�3DGDQJ�VXGDK�VDQJDW�HIHNWLI�NDUHQD�
GLVHWLDS� WDKXQQ\D� UHDOLVDVL� SHQHULPDDQ�SDMDN� UHVWRUDQ� VHODOX�PHOHELKL�GDUL� WDUJHW�
\DQJ�WHODK�GLWHQWXNDQ�KDQ\D�SDGD�WDKXQ������PHQJDODPL�SHQXUXQDQ��SHPHULNVDDQ�
SDMDN� UHVWRUDQ� VXGDK� VDQJDW� HIHNWLI� $UWLQ\D� %DGDQ� 3HQGDSDWDQ� 'DHUDK� .RWD�
3DGDQJ�WHODK�PDPSX�PHODNXNDQ�PDQDMHPHQ�3DMDN�'DHUDK�WHUXWDPD�3DMDN�5HVWRUDQ�
GHQJDQ�6DQJDW�(IHNWLI�

.DWD�.XQFL���3DMDN�5HVWRUDQ���3HQHULPDDQ


